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Instructions:
EHAA:
E & mM4A:

> Question number 1 to 20 are of short answer type.
£1E20 EYREEE.
£1E20 BYREEE.
> Each question carries 10 marks.
BREL 10 2.
BES5 10 2.

1)

Letp,q,r,...... be factors of number 32. The value of%+ $+ %+ e iS
P, qr,.... 532 WEH, %+$+%+---E’9§M§% o

B P, Qe HB2WEB —+ —+ ~+ - HER o


mac


2)

What is the smallest number which when divided by 25, 40 and 60 leaves the

remainder 5 in each case?

BREL 25, 40 M 60 RERBIIAR 5 WRPERZD ?

BREL 25, 40 M 60 FRHHN 5 WRPMBRZ D ?

HCF of two numbers is 16, and then their LCM can be

M{ESH HCF & 16 , Al LCM ATRER

WANEY HCF 3 16 , WEf1#Y LCM ATEER

Some work was assigned to Caroline. She managed to divide it with her
friends. She gave % of work to Roxana, g to Emma. How much work is still

left to be done?



—ETHERDEEFEM. HEREZEMNPARIZETE. M8 112 0 THERIE

TEE5S , 5/6 M THERIGT =M. EFSDOTHFEEMR?

—ETHERIELE FTM, BIRESHABRNSE. R 112 0 TERSGT

#wIL, 56 BTHERE TR, HEESZLTHEEM?

In an examination, one requires 40% marks to pass. Harry gets 170 and fails

by 30 marks. What are maximum marks?

HEZEHP , FE40% NWOBSFEER, BWAEFT 1700 ,BET 30 978

o MORZD?

HERD  FE40% o BFREL, BWRET 1700 ,BEET 308576

o BORZAD?



6)

The perimeter of a square is equal to the perimeter of a rectangle. If the length
and breadth of the rectangle is 24 cm and 20 cm respectively, find the area of

the square.

EFFNAREFRRAENEAR, ERATEHNRNRES AR 24 20 20 E

K, REFFEHNER,

ERFEHARKETRKEFNEARK. MRKEFENKMRE D3R 24 EKHM 20 E

K, REFFEHNER,

How far does a train travel from 8:30 a.m. to 12:00 noon at a speed of 88

km/h?

NEREPEE 8:30 4 12:00 WA 88 NE//NEMNEETEHZIE ?

KEMNE L 8:30 |4 12:00 2 88 NE/NIRIHEETHZIT ?



8)

A recipe calls for 3 cups of flour for every 2 cups of sugar. If you want to

make a larger batch that uses 15 cups of flour, how much sugar do you need?

RREERE2MEFEE 3 AEY. MREAREEZAIHIR , £ 15

¥, BEESDE?

REERE2MMREFTE I AEY. NREBEEEZHRIR , €8 15 FE

¥, BEESIE?

If school starts at 8:00 AM and each class is 45 minutes long with a 10-minute

break after every class, what time does the 4th class end?

WMRE L 8:00 LFR , BEIFR 45 D& , REBIKE 10 DiE |, IREEERER

FER?

WRE L 800 LR, ZTIR45 2% , REKE 10 28 , BAFOTRILK

R ?



10)

Robin bought a car worth $ 38000, he paid 67 % in advance and the rest will
be paid in 12 months installments. How much does he have to pay for 4

months installments?

EEE T —W(E(E 38,000 THYSE , AN T 67% , HexH oKD 12E@A S

. 4 AN HINRUEEENSDE?

FEWXRT —W{E 38000 THNLE , FAN T 67% , EREO D 12 1A

DX, 4 MANTHARBERANZ DK

11)
Which of the below can be simplified?

T3 — 38 AT LARH L 2

T T AR — 5 =T LA fRI L 2

(a)1:
(b)2:
(c)3:
(d)4:

N o0 o W



12)
How many axes of symmetry does a regular hexagon have?
ERNBEBEELEH 2

EABFEEZ DRI ?

13)

Identify the shape with vertices at (0,0), (4,0), (4,3), and (0,3). Determine the

number of lines of symmetry for this shape.

PR TERAR (0,0). (4,0). (4,3) M (0,3) WA, BHEEMNLBEE.

RBITRMNT (0,0). (4,0), (4,3) M (0,3) WK, BRI IRAI N K.

14)

Sophie, Max, and Lily share 72 chocolates in the ratio 3:4:5. How many

chocolates does each person get?

BIE. BRETMFFN 3:45 WHAIDET 72 BT D, BABIZIRER

B2

7. REHMFFRR 345 WEFISDET 72 RN, BABISZIRG

&

=H?



15)

A cylindrical container with a diameter of 10 cm and a height of 20 cm is half-
filled with water. If a solid sphere with a radius of 5 cm is dropped into the

water, will it overflow?

—EEZ 1027, §20 20HEREERR[ER —FHNK, MR—EFERS5

NOWBEOHFEAKF , EEHEHT?

—MNERN 10 EX, BN 20 EXNERKERES —HHK, MBI EE

N5 ERNROIKEAKS , EREHG ?

17)

One-fourth of an amount is added to its one-fifth part. What will be the

resulting amount?

Dz —NEEMBERD 2 -8, BREZD?

W2 —WETFMEIRES 2 —WBHh, LRESD?



18)

Let the operation » be defined bya*b=ab-a-b+8.1f 7 b =14, what is

the value of b?

REE«FE&HZBa*b=ab-a-b+8, HE7+b=14 , EEbWERHE"?

RizE «ENNa*b=ab-a-b+8, 5E7+b=14 , BERA bWERHL?

19)

Shelly sleeps for 7 hours 30 minutes a day. For how many hours did she sleep

in the month of January?

FREBERNVERIEAS 7 /NE 30 piE, —AMETZD/NE?

gL RAVEERE RN 7 et 30 28, — AHMEET S DA ?

20)

A symmetrical pattern is created on a grid with 4 rows and 4 columns. The

pattern has vertical and horizontal line symmetry.

H41T450BB LENHBER, KBREFEENKPRERM,

H41T450ME LABRNTER, ZEREFEENKPLIMLE,



ABCD

DCBA

ABCD

DCBA

Identify the number of horizontal and vertical lines of symmetry in the pattern.

BEBRPKFNEEHBRNVHE,

BERERPKFNEENHTENKE,

END OF PAPER
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